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4 Fagiaes of Predachion s [The inpuks required o preduce oukpud]

o Land — Nehueal recources
v~ L abor — Human effort — physical 8 mentod - augmented by educadiond
trawning
v Cogital—>Resources tnak mpriove prisductiorty.
* Eatepreneurship /Technoiogj —7The Kl 1t -4alkes & Knoua-how
to puk the other resources together
o pnodudﬁ 02 Ventufe..

[ C’mcu\our' FlowDioaram:  |llusteakes the ex c\r\omgegighal oCcur
Co M‘muous\j o the econd Mj .

. Scoro'tl-ﬁ ¢ Thegtake of hom'xnﬂ iy ked. resounces bud un iaied warls
& needs «

' Regonrces: Raw mwcerﬂalﬁ,fundinﬁ, labor & other elemernts necessny
fo prioducehethings people need:

% Vusduct Manlkek. Whero consumens panchase goods & gervice s from
businesses.

b 'P\e,\)enue,'.’[?%ma.nlc recewed by business es friom customers in exchangefor
the prodads .

% Tocke Morket: Place where business punchase whok ey needio
predace thewr 8q0&5 & qenmces.

W Tadors of Prsduchion . Necessary resources o produce any geod o
Senwnces.

3 of 33



Incentivize: 4o mofivake of encouragesomeane thrutne pasidiitty of

gome ind of gain (ncentive)
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RESOURCE ALLOCATION
AECONOMIC SYSTers

1.02

* Problem of Scarcity os resulied ' careful resource allocakion

Three Bosic £eonomicgpestions:

) What aoods & seavices do we Pmc\uce?
2) How 8?) we makvrhesegoo&s & geruicest
3) LWho consumes these goods & regouses?

é_oonom"n ¢ sugtems:

* P systemis ony group of thnas argarivzed n o porficuar way.
' %."ﬁjf "_‘!“_\@2'5‘.9'.‘9[‘ ﬁ-sﬂ-ﬁg@'?q&m"{ﬂ.‘ 19 E:‘“* &’*“"ug‘jﬂs
ks ngs are be'ms orgafi 204
+ Economic syslems orqanize bosed on the history & wlture of the
people who make upthesystem.
- Compqrqh\e 1o the J\L‘:\]C.e 535'\€m-
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TWO broacJ Cateqones '
S\\jﬁ’eﬂ—\_s n de,-\eﬂne'lﬂ 9 r%o%{cgg{l‘go(ﬁ%m

— Cenkral plann'ir}j by 3ouernmdrl:

_’Publicgooagmo&erooﬂ&mﬁmﬂ .
individuals. — Lack of centrak planning
T Key Difference’
wWho answers the basiC
> economic gpestions <
an

Comman A conkrolg FREOUTCRS ok
producon,

¢ (N\lemmen’r ONT\QXSH\? of ouvfw.}(

& businesses.

'Eﬁ‘\:"'f?,::f (g '“e.% PGC‘\-“G Quals for
| . -
o . ° _\“’moe‘nlaoe‘ to ‘\'\nb\BU-*Q.
s D culty coMporig uahu € bhun Peo
9oods & Seruices. e Price 08 & WaY ‘o measure
goods 1 EQT\U‘\LQS .

-Leqal c?nsbrafm% 15 janovckon
* Few choces pertrited +a indiuidust

¢ LG%"\nCenEue_&’oﬁnd'au‘duaxs 4o mnovake

s Frieedom of choicef

e goods & seavices . +tdaolly
DPecisive ackion on economic . Ng simple sol Sk DN 5 nON-contritaier’s
vse, of shared (pubiid 96645 Such 0§
o -

acfiurties consdered urivessally voluable - roads, police & educ

or un
occeptable. e.q. VS, \K

e,;q s Nordh Kofeos, Cuba,Mussor,m-m I‘hd'l”

|Mixed nomMy [Tird categor]

~/

Toghures of both commond & markef ecofiomies
- Presont in eoery couniry 10 ij’\ng degr eeS.
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guided by " Loigible hand, comgelition-



DQ—Q' \ (\.\t\bﬂg

s Kesource Allocakion. Thstibukion | placement of arce factors of

producoon.

® Produckion: Whele process of making Soo&sﬁndu&"mg Copral

goods or protiding service Fromscarce Tegources.
Comnsume: Use of 0. good 67 sermce.

Distmbukion® Whole process ofdeliver ng goods Prom where
Jdr\eg Ore produoed 10 wheve consumers pur chase.
Constrainks & A finaik onthe onoili by Wy of or ab‘x\”i{\\j 1o dd
g om(’}c\f\o\(\g .
Economic gystemn A set of ingtieudions Fhok answersthe
bosic guestions for thesociery, ak-a econony
Institutions: Adroditional or common methad for dg\ﬂj
SGme{h’iqg :
Coordinaking mechanism’, Whole set of Snstitukions ok
> B detrermine resource alocakion
Command &{Sjcﬁm.- CGﬂjcPol ()\omﬁ'mg bté the 5ooernmeﬂ£ 3N 9
” o luntary \ows, fox okion & restmctions .
Market gystem ™ Prices deternriined by v O\QN‘OJ‘}J fegohokion of
bwyers E Sellers ,?r&e C’uoﬂ f or pr'mke pfo?ePtH g< Contro of NeqouICes ‘Dj\\wseh\&
Mixed economy’, A S\lj&kem Por digiri bukion & Producﬁon of
goods & services for a soCiedy degending bethon Ce”*TaXplann‘mj gf:&i\a_
SeH-iderest’ Personal wands orneeds.

Invisible hand: Rdam Smnh’s mestaghor fora percon’s self-

Tnterest, guiding i ([ike. an fnvisible hand)
£0 provide imthe good [service. most valued by his neghbo wes.
Bosicoly persuing one’s own interegt will end up Providing Mest value
Lo society overald.

B Property pights. Individual ownerghip of property protecked

N 1aw-
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PRODUCTION
?9551 BIOLH €S

[PP() CURVEE

* Preductionpossibilibies curve (PP

A. k.00 Production @oss\b\ \bies frontier OR

~ — —-Yeoduction poss\b\ \Hes bcm‘\d&‘rg — 15 o roph
Wagtrodin 9%\@, possible cukpud compinakions of 30&%
bosed on B et O\MGU\I\{: aF (e SOUICLs.

$  When 1dentiiyin oppuctuiitty costuging ¥ PC, each good's
Cost 15 alwoys staked W wrms 6f the othee.

¢-9 Opporturity eost of gaing 4o on hous of Nop s an one hour of
Study bme.
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BIG INSIGHTS OF PPC-

oS
— — Unoktainabiel]
3 - o~ e~ Impxsible.
d = for now
) |
o ©f Vse of alk Gvarable resoures
-; 5+ . N &fhicient .
Y 9 t \ﬂeﬁ‘!dej\-\-
—3 3t . Pnoduch on
2 '1' N - '\Dc;\'b 0{_ _\_ h“b‘ 08
- L oee® Grpw¥h of TeC Y
T \\k 40(‘\0‘_00,* 0
" Ir A I 1 ' >
+ 2 3 49 5 ¢ 1 % 9 10

o Always vsesome scole.
. A\u)mg% \obe! oxes & fines

“Postbioe slope — Direct relabionship-
* Negaioe slope — Inuerse, relationghip-

*T%hﬂt)\ogg [ anTrnpoﬂmk himiton inpuds naPfe.
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Constant Oppurkirity Cost. oot less,

Producing 1 unitof 6ood A,
ol cost 1 unit of (Good B.

ca
E:
O
© Good A
3 Incrensing Oppw‘h\m\j
O
Smooth-| L‘i:a [N
oy w 3 - -'Pnoéudng eoch addvbonol uartof Good A
‘ G‘ d* ' ! > feSulis1n 1255 cosk 1n unidg of Goods B nelaf;
oc A + Higher marginal appartunty CO% .
o . .
Decreasing Oppuekunity Cosk* + Commen gap
- —

e Prioducin 1q eoch addvbonal uatt o€ Good A
fesuls 1n 155 cosk 1a unids of Goods @3 ("6\035\0{’.\3
+ L€5s marginal o?purhm%ﬁ cost .

* Rare griaph -

an
& In order ko %e% fnore. oF cm hmﬁ L one must generally give

¢
e.0e0 1N CreasiNg ot ey,
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+ Marginol.: ak the edge, usuallg indicating e net unitt.

+ Oppurtusitty cost: The nexk begt alternatioe eariicad
= @n #ofeﬂone N ar\j choice. .

| Vsads PPC

- A

Modn Prioblems

Chod’s PPC

- i
L

Videos
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OYTION{

a) OPPUTJCU“\M Co%Jco(lg,o'mg friom 2.-3 Sandwiches

o
—

\4

W2

Desserts

-0
3-2

-6 = ( DeSSQ,FJcS
1 —

Gory’s PPC

1

2 2 )
S anduo? ches

15 of 33



(L) This VP( ‘ndicakes °\ncwreqs\nj ow‘wtum’cj ok
bocause s a bowed ouk cunve wohich means d
with every sdditional sondwich made,the curve ges

] ° \0
ghoepel NA Steeper — NCreasify ’cge velakive
number of trade-offs of desserts Moae .

dhe)

Lineor PPC

Coke.

. -~
Inefficent £ ficent.

16 of 33



COMPARATI\/E
ADVANTAGE &
TRADE 1141

LY A
Hwkual benefits ?or’{les bu allowoin rgﬂl:hem% consume
nthe unaktomable area b Jonloe curvent PPc .

* Spscializakion & +rade are determined by companakive
advantage.

Hawng. comparokive advattage & a"ocusmg onthad doesr’t
aﬁec‘? PPC. I\|of dogs rade offed procluc\ ng begond PPC .

— Trade d6e5. alloy coﬂsummg be\tjond PPC.

% Cconomists consider 1t 05 a madter of fack ok all4he £ine
People, business & whale countries produce éooels & genoices fr
themseloes Hhaithey could get-trough drade & o much lower cost-
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+ Carla & Jenny beih make bracelets & carings-
In he same amount of £ime,
Carla can make § bracelets or 10 earrings, while
Jenny can make 5 bracelets or 5 earrings .
Deteimine absoluwre & componadive addantage.

Ans:

\ Corla | Tenny

Bracelebl 5 @ 5 ©
corvingsy 0@ | B.©

Thsoluke o\&uantagg'. Carla hag ouer’aja,mj"\n
VT Larmin produc}uon
(I0v§

Commna%‘sue, O\A\)dr\k&cie'- -jem’w has COYV\PDJ‘OJ:‘\\)Q
~-  advantage over Carlo
{n Bracelet production .
(1v7)
* Carlahas compaRok €
Oxé\)&V\‘c&SQ puef Jenny
n QO\Y'Y’O\(I%?\’\OAuCBL\Y\.
(0.5 v 1)

="This ¢ on 0Ukpok problem where oppurtunidy cos 5
calcloted using. —>

« o1=C00d B £oreqone
CJOOA R Oppm-\unﬂj Cjood A nguma |
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=Tor inpuk problems —
OFFuAunﬁj cost of Good A = = Kesturce A

fesowrcs)  fResource 3 foreqone

Terms of Trade:

— |4+ wll be on\;’ worth it forsomeone kotrade jf the
00d receivdd coststhem 1SS than mak'\ng Tt
hemselves.

* Abyyluke O\S\IO\YHD e Abilityto Pm&ucemomo{
x ceﬁmﬁ’ g00d wﬂ?sm\e Hewer resources:
* Comparodive a&uuntaqja Abiliy to prodace smih
LN a {ower BPpUPtuNTty TSt thon someone e
¢ |rrakionak: Vllegicah [ Senseless.
W %QQ,C\O&\ZQJC\OH +he, deSianakion of resourees & warkes
£0 specii cLasks 4o produce in o more offi cent &
productive way-
®  Mudual BenettS: ynen born parkies profit or
0in from an exchange-
® Terms of Trade: Theprecise fiqures of fow much
ot QOU\ g00d is exchonged
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2. Ce_%_’

0 1. 213 456 71T % 9 18
‘Fﬂ""“gs

\ Corla Jenny

ekl 5 o 5 ©
Eannings] 10 5.0

Braceleds reco,loms - 1w (12
e&fr\ﬂ(j fe_cQ_‘o"lS - 054“41

|§carta mad e bracelets herself 5 e
She would poy 2 enrrings A

¢ {1 _éarrmj che w il P(‘_lj Q

ey — Qarr‘mgs hercelf,
She wuld PQB | bracelet
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France

7’) S 122

Ohe€se [ -3

~Chocolug 1 €3

\ trone | Swise

Cheage| 6 -

(ool 9 %
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OPTION1

o) India has an absolute advantage 0v.5)

b) V@(M\U&S \ Pecans
India | £=01 | 2-10

0 _ - 5 _
US. =2 \16“0'5

Fiq: Table of Oppurturitty (osis.

Indio, —7 Oppurtunt Yy cost of mok ?nﬂ ™M
peonuts i§ 0.1M Pecans
- Opput*mn'!'t\iwst oF mokig AM Pecors's
| OM Veanyts

U.S. — Oppur\:uﬁﬂﬁ cost of mak ?n\cj M
peonuts 1§ ZM Yecon s
. Opput‘tmﬁ’c\iwst of moki 9 AM Pecors's
S

0.5 MVYeany

C) onuts | Pocans
Indio | 50V | L-10
5 8-z [5e5

- The U.S. would speciakize n Vetans because it
has o comparakive aéoan’coge.
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Snottcuk.

‘Vwﬂu*s \ Vecans Look o} the product

row/ colourn ‘across

e j_ e
| nle\ ==0.1 10 _ 10 both entities

- ONE PRODUCT BY ONE,

10 3
ONLY ko determine
US !_Q.-_- 2 S :.— ' eoF coch produc
o 5 \ 10 ‘l’ob%-('ﬂ.CLled

—

The 0.5, will emc\nanse' 1255 than _ZMfomlso% pecans

but more than O for\ndia to benefit .
* India will exchange \ess han (OM peanuts buk
more bhan 0.5 Mpeanaks for the 0-S. 4o benefit.

/7\7e,c0m5
~U.S —7[0AM 4 w {IM
—~Indip —>[0.5 M " {10M
“Peanuts .
d) 1M Pecon O
~ 1 S
fg‘ ]g / M foonuks @
2 e
-__?:’_- Z— ° 1M Pecon @
E 5 o™ Peonuts @
€] y
é q -+ ”I{eJSf
L Afes
Y EEEEEREREES

Pecans (m llon puunés)
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Nombars 1epfes ent '
6) sallion pownds of the \)TO&’-CA

@ Now ok Indio 1§ Jrroxé‘mg awap\ g peanus S
E Y

rQC,Q‘\o'ma? 1 pecan in retu e? WOC\“CQCHW}* in ‘bO'W\ (05€5,

pecon smeskically , it would nawe oforgo 2 More N 0
pganujs f5¢ o totad of 40 Qe(mu&s \r‘\é|0x 15 CONSY n9
hhgher peccms
. \ gan viven foroen
/ @ NO\)J\ ‘\"(\Wk US- 19 %r&c\mﬁ awony A pecan ,'\-\.‘15 £,8Mme numbe?g\Fg

In botn Te R\ g peanuls iy rekurn . ey could Dot possitY peanats \omﬂﬂ )
cuses the cutin nove p(ddu%& tnose domeshically 05 55 the MOX
Vs :n’ts( Cforx\\\ﬁs A Deonwls adlowes by PPC.
s naf ¢
"“2@ produc

@ Now ek Indionis frading awey 6 peanuks v is
e c,q\d\na? 1 pelun T return . \f \"neﬁ ?roc\uced Aok
pecan omesiically, Dould NAVE €o forgg L mMove
PQ,OJ\UG\% {ac o kokad of 40 \)ean\,\}s

C’ﬂ) Now Mok U,S..‘\s Jrraé‘mg cwday A pecan v 1S

o C,Q‘\\)'mcﬁ (, pearws \yy rekarn . They could not possoYy

Viave produces those Jomestically 05 £ g the, MK
T)wnu\%s u&komeabﬂ’??C.
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COST-BENELH]
ANALYSIS 415

Tokal Costs /—\

“Samn of both explicit [ accoun®ing costs and ‘imghict
cost /l—’oresor\e oVermakive .

Explicit Tmphiett  _gial Codks .
)C(c\ngs{s g Cosks °

Revenye — Money, sales.

+ Business meosures S benefits In netprofit.
 Consumer measures 1S penefits m net (ﬁl\’ﬁj_

Total Benaiks| ¢
To{uICOS*S-
* Do+ el confused Lohen u See a guestion where consumer
9ers o total benefit maasured n dollars.

Recounting costs are the acual expenditunes o prisdudionthe
numbers in the gpreadsheets & bank transockions - Business ourers
etockholders & 4ox collectors usu ally are the ones who care

+ €oonomic cosks include alk implicit & explicit costs .

. Opgurtunily cost —> Cost of next best atternahue .
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OFility vs. Benelit:

L \

Absinad \V
Measunment Greaker or egural
wnudils to pay ment
\ for o good | senuice.
Tfrerent
Por euep
persort.

8 Consumers care aboud 3d~ﬁrl9 +he MoST u&?lsldo_ll_ar.

i

UJ&\")@ Nox: m?z’mj
ehoree.
ps Al mqrq'lﬂ___7 (ne‘kh')):ln""'-— 3 I ] T

- Explick coskss  a.ka Accounting cost — Al expenses
' directl gpe(\Jc o an &cton
* Irplicit costs: The most vitluable econofriic activny th
d'd not occur because of a choice .
- U \"\{-,_9 = Personal sakidfaction gained from an economic action;
Lsually a punchase . [/E)roacll_nj means ngefulness)
* Ukils: A unif ofmeasure of consumers’ personal sakisfackion
N eonomics.
* Nk Excessthatk remains odfer costs aresubknacted fiom
benelfits ; profit.
+ Wiy mapydmising ehoice. the action thet gﬁr\&‘rha consarmer
- i1

the largesttotod uilty or ufils/ddlar
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5 Why 15 a fre.e app S0 much more atmagtivethun o
sugerior phone app that st $4.1

Ans. Utils [ dollar B infinite for thefries Op P Compared o
the priced app.

Dols _
50 =0

4 Totak Cost —> $635 000.
Profit 150000

Geonordic Cott —55659 000430125 900 - 50000)
—4625 0004575000
~4710 000
Loy —>8645000 -$11 0000
— - §25000.
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MARGTINAL
ANALYSIS §
CONSUM£

CHOICE L6

* Valueis not constantfor any consumer good ag more
of 11 is consumed.

° -Asg long 0s mar ngiNaL tx\:\\\g s Ve, h}hﬂlub\ltﬂ NGieasss,

- = When Margin ujc\\\Jc 50, otk Ut ,LPSJ“) ps Changing.

- m\r\\\e/fY\mS\nUl \fC\Hﬂ '8 -ve, Lot yh (ty decreses-
Gle | MorgroUritsy | Total Uhlity Comm ents .

1 is 15 mmm,
2 14 19 50 good N
) 10 %9 mi\ fiom nom P \J'hr\"‘J 0+ dﬁ%&f"' .
4 L) 47 ¥lom nom d |
5 5 52 T showidn’t haveangmare <0
(A 3 113} Dnemorebite S T
1 1 56 Air fam
S -1 54 Ugh. [Parernt makes uesk] Yo T
9 o 51 Ur’oqrﬁnj w

s 320

>

20 -
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Model of rational consumer chorces

— Maximizing ¢ total benefit is the good for consumers

— ConstraimS™ becavsed time & money requireconsumpfon chies

—"'D'lm'ir\'ish'mj'. marginal uhitty exists in each g6od -

— Combinafons : of purchases are determined by equating
hemarginy uﬁ\ﬁ ofthe last dollarspent
on each good .

— Op’o'\on ~ Next ochoimol puﬂchose_ﬁ’s Yhe one thod hagthe

most utils/dollar,

+  Congtrownts are imminent because of scam'g - scarce
resounces.

Margmol Analysis

A process i detenine the optimal combinakion of purcheses
for go0ds with di#erent marginal vl ity canves
CMgrafpod [Price)
* Fiesk, determine the Mul P for sach good (Benefit per dollar)
* Second, be aware of e constroint 1i ke a specitic budgef §-
* Third , compore Mu [P between each geod 8 optforthne highest
Mu [P euer%{\me.
*Fourth, subtract price of the opted good based on Wighest Mu/P
fom \9\)\6\9@:.
*Fifth, set the resuld og4he new budget & cross outthe specific
unik of-fhe good ohsen (8o you ason’t comparetha unit anymore).
+ Lepeak 3% to 5™ Steps andil you reach budget of O.
+ Chechk the number of crosses made on eqchgooé te find ook
he combinadion Yok Mmaoximizes consumer beneft.

29 of 33



UJc?\'\’Joj ot zing eule | Opmnal coneum phon ~ule:
MUn = MUy

%% ”P:.j

—TForany goods n & combo of oAs hot
eguadizes them bog \Lg -ﬁl'jme Mu/$ or close to it
0% poss;ble

*Budge-} congtrants eften do not Pfhst‘ ePS:ec;{;—
e.q,uultmhon of mathaJ\ whls per c\o\lor‘ be.+ween
7 000ds -
- When you equadlizethe 2 rakicg, it Mmakes i cleal
which aood should be chosen -+he onethok
Mo mizes your cueral honefit or uk| \{3)3u|neol.

'T'or ever e.CONOMIC oo’cor’ ecoNoMist 6 recommend

\r\19 wdhen margmal 008% 1S equal 1o mqrg\ndl
bene
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Law of dimimghing morgnal uti Tiky 2 The poinciplethat og more § moreof
an‘nguk 15 Used n short-teem production +he mMarginal produck dedinds.
Manginal, uifity" The personal éatisfaction a consumers aains
; by consuming oneadditional unit-

Totod Uhility 2 4ne sum of alk marginah units of sodisfackion
eonsumed upto to o cenkain pent.

Model of pakiona consumer choice: (When consumers ack fnthar
On best interest, as economists undersiand it-

mno,mcm'tc‘. wag to remembper a Jch'nng ; Such asan acronym
or o Phgm'mﬂ couplet.

Irrakional: lll03] o, or censeless

Fixed cost: Input costs thak do not change based onthe

amount produced or Tnthe period of time under
considerakion .
AK.0. Gun\ costs”
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OpPTION1

d) John ghould optimally buy 5 8lices of pizza. Firsty s the
3ikth slice would notbe any benefit to him because s O uils,
1t would jerational for im 1o 00 beyond the fifrh slice ~ which
does of a benefit of Z ufils . Secondly, the congiraint of $20 does
not disallow wn 4o congume the £ifth siice — pag?ng $2 fvetimes
Means he as b pay 410 in kotal whichis lower than $20-

b) Totad UBlity= 20+42+10+6 +2+0 +(2)+(4)

= 50 ".3
= 47 UJn\S//
¢) | Mardinah UTi 11ty per Dollart ($)
Urts
Eco?c'mmed Ti2z0 Funnel Cake.
1 20172= 40 - 50/a= 12.5
7. 12/ 2= ¢ yol = 10
2 /2= § 2[4 ¢
0 62 = 3 miu= H
5 2/2 = 4 124= 3
G o/2Z= 0 b/u= O
7 212 = -1 2(4= -3
q —¢/2 = -}. -20/4= -§

d) Fiesty, John has a constedint of $20. He chogses the
18t unit of calke wimeh has highest ulils /8. of 12.5.
His new constmint 1s §20-394=316. Now, ¥he 2nd uny

of funne! cake same Mu/P 0s the 16t shcesf fiz20. Th
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according to thethe optimal consum yon rale,
Jonn’s o mc\& CoNsSuMNP Jucm bundie g O\S\\ce
of p\zm 2 funnel cu\ﬂes

¢) Totad Vtility = 12.5+ 10 +10
= 32.5 uhils
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